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(BfGL: FM)

2 B FHIERTOEE| #8 IE %8 &t HEREDELAR
1 HT fi| 4,019,206 4,019,206
2 /A E 5 B 47,000 47,000
3F F A X & 6,000 6,000
N I 2,000 2,000
5 BAEFEEMFIRFR 500 500
6 AHERIX T 230,000 230,000
7 BEEBMEREHEXAE 14,000 14,000
8 #y A % Bl X 1+ £ 10,000 10,000
9 A X  H 1 1
10 XBREMNERHNZ & 4,500 4,500
MaHEERVAES 174,067 174,067
NREAMRUTFHM 57,997 57,997
13E B X W £ 701088 28175 120263 HSHEEMERZLE
148 % W £ 413601 795| 414486/ SHERBHEIERRARNS
58 E IR A 2,495 2,495
16 & Bt & 5 5
17 #2 A & 640,000 640,000
18 #& 224 % 30,000 30,000
19 % Iz A 53,049 53,049
20 Hy & 209,401 20,700 230,101

m A& i 6,615,000 49,670 6,664,670




O— it F1SHEFHRRHERIR

(B FH)
B = FHIERTDEE| 8 IE %8 Hi BEEOITLTAR
1 83 £ =1 99,984 A 140 99,844
2 % 2| 826460 A 1169| 825001 [FRABRKRENTE
3 B £3 #| 2,080,459 Aots| 2,079,541 | EEEEMIBEEMRS
4 & H | 262349 4435 466,784/ ABKS
5 18 =1 2,092 2,092
6 = M K E %X & 152,137 332 152,469|7 70k K fE#EN
7 7 T # 19,540 19,540
8 + K #| 1315165]  A607| 1314558 2RO IEALREE
9 34 B #| 266,739 266,739
10 % = | 784364 6,093  790,457|/haE— AR iE S
nK £ %€ 1B & 1 1
12 4 & #| 600,709 600,709
138 X H 2 1 41,644 41,645 AR EEHTS
14 % ] = 5,000 5,000
B Ha s 6,615,000 49.670| 6,664,670




